|||||||||||||||||||||||||||||||||||||||||||||||||||

Rok Shifter

Mini KID

A o4

P e R e e T T
” IIIIIIIIIIIIIIIIIIIIII " r==-=-=-=-======®==-®= "
[ o |
23 . ¥ 5
- n 2
(%] >0 1 1 |
mnv\-u bDn__ [ .W_
o o ! ! (I |
O._\Iu € (I 1
(%2} ¥ | N 1 1 1
n 2 o X [ |
GM [ [ I
O x [ [ I
< W 1o o I
[ o \ |
[ [ I
o [ o I
o™ [ o I
V. [ [ |
© 1o [ |
T IIIIIIIIIIIIII N . o . T T T T o

In vigore dal - Effective from 15-12-2021

64



OTK KART JAPAN PRICE LIST
2025/2/1~

=2k

KART JAPAN

EXHAUST SYSTEM

Description

A |0061.00 BVoY-Hng" - Silencer’s cradle-holder @ 100 mm ¥4,500 ¥4,950
B |0061.A0 B4UoH-ifil5" - 120mm Silencer’s cradle-holder @ 120 mm ¥4,100 ¥4,510
C [0061.B0 A=\ WAL=y -IKZ Silencer’s oval cradle-holder KZ ¥17,100 ¥18,810
D [0256.GA Uyt -7 5y b 2015 Exhaust support ¥4,900 ¥5,390
E [0256.IC VoYt -bAT-1R955" b (L) Rok GP Exhaust support ¥3,700 ¥4,070
F |0256.1B $4LoY-4if° - pA7-/IROTAX MAX 175mm Rotax Exhaust support ¥2,900 ¥3,190
G [0256.A Y4bY-Hik - FAF-10K (L) OK - Rok DVS exhaust support ¥3,700 ¥4,070
H [0256.10SX B4UoY-Hi° -bA7-IKZ(L) Left Rok Junior - KZ exhaust support ¥3,700 ¥4,070
I |0256.10DX YUYk -M7-IKZ(R) Right Rok - KZ exhaust support ¥3,700 ¥4,070
J  [0256.IDSX $4Ly8-Hifi° - pA7-IROK SHIFTER(L) Left Rok Shifter exhaust support ¥3,700 ¥4,070
K [0256.IDDX $4byY-4if° - pA7-IROK SHIFTER(R) Right Rok Shifter exhaust support ¥3,700 ¥4,070
K1 |0256.IE $4Lo9-Hif° - MA7-IRKZ RKZ exhaust support ¥3,700 ¥4,070
L |0256.FB $4LoY-4if° - bA7-IMINI KID Mini Kid exhaust support ¥3,700 ¥4,070
M  |0256.FC $4LyY-Hik° -pA7-INEOS Mini NEOS exhaust support ¥3,700 ¥4,070
N  [0256.F0 $4Lo3-Hi° - PA7-IROOKIE Mini Rookie exhaust support ¥4,900 ¥5,390
0  [0256.M6X24 BUY-9i° -7 35y M b 6x24mm () SPECIAL BOLT 6x24 mm ¥110 ¥121
P  |V.TPSCEI0X40 |43if" )k} 10x40 TPSCEI Screw 10x40 mm ¥160 ¥176
Q |V.TE8X30 NI Ik b 8x30 TE screw 8x30 mm ¥50 ¥55
R [RP.6X12 Jy3p- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
S |R.P.8X17 Jy5¥- D.8x17 Washer @ 8x17 mm ¥20 ¥22
T |RP.10X22 J93v- D.10x20x2 Washer @ 10x20x2 mm ¥20 ¥22
T1  |RP.10X30X2,5  [795¥- D.10x30x2.5 Washer @ 10x30x2,5 mm ¥50 ¥55
U |0228.00 ot yhIySr- M10/ALU Biconical AL washer @ 10 mm ¥420 ¥462
vV [D.meAB. A7095F9 M6 (F40) A.B. nut M6 ¥20 ¥22
W |D.MSAB. oysryime (F40) A.B. nut M8 ¥30 ¥33
X |p.Mm10AB. 095F9 MMA0(F40Y)LOW 093y AM10(F407) LOW ¥50 ¥55
Y |0063.00 $4L9-f5 -0 - Rubber washer for silencer holder ¥310 ¥341
Z |0060.00 FrON-27°YY9" (130mm) Silencer’s spring L. 130 mm ¥570 ¥627
0059.00 FrIN-27°Y¥5* (55mm) Silencer’s spring L. 55 mm ¥460 ¥506
0059.A0 FrIN -27°YY5* (45mm) Silencer’s spring L. 45 mm ¥460 ¥506
0059.80 FrIN'-27°Y¥5" (35mm) Silencer’s spring L. 35 mm ¥460 ¥506






